

PHILIPPINE CHILDREN'S MEDICAL CENTER Quezon Avenue, Quezon City ALTERNATIVE MODE

REQUEST FOR QUOTATION No. RFQ-2023-534

| Date: Name of Supplier: Address: Telephone No. | | | | | | | |
|---|---|---|--|---|------------|------------------|-----------------|
| Nego | tiated | Procure | lowest price as per specifications per item listed belo ement - Small Value on or before <u>September 08, 20</u> otation at 8588-9997 or email at pcmcproc@gmail.c | 23 | | | N |
| ITEM NO. | QTY | UNIT | DESCRIPTION | ABC/UNIT | TOTAL ABC | UNIT COST | TOTAL COST |
| 1 | 72 | set | Basketball Uniform | 900.00 | 64,800.00 | | |
| 2 | 2 | рс | Tarpaulin 33" x 78" | 500.00 | 1,000.00 | | |
| 3 | 4 | рс | Trophy - Basketball Champion and 1st runner up | 1,000.00 | 4,000.00 | | |
| 4 | 2 | рс | Trophy - Billiard Champion and 1st runner up | 1,000.00 | 2,000.00 | | |
| 5 | 4 | рс | Trophy - Bowling Champion and 1st runner up | 1,000.00 | 4,000.00 | | |
| 6 | 4 | рс | Trophy - Darts Champion and 1st runner up | 1,000.00 | 4,000.00 | | |
| 7 | 4 | рс | Trophy - Table Tennis Champion and 1st runner up | 1,000.00 | 4,000.00 | | |
| 8 | 4 | рс | Trophy - Volleyball Champion and 1st runner up | 1,000.00 | 4,000.00 | | |
| 9 | 36 | set | Volleyball Uniform Men's | 800.00 | 28,800.00 | | |
| 10 | 36 | set | Volleyball Uniform with sleeves Womens | 800.00 | 28,800.00 | | |
| | | | (See attached Layout and Design) | | | | |
| | | | TOTAL ABC | | 145,400.00 | | |
| РСМС | Require | ement: | | Please indicate delivery terms (in n | | | |
| Delivery Period: Seven (7) working days upon receipt of approved Purchase Order | | | | | | denvery terms (m | number of days) |
| | Nego. PhilGE Mayor PhilGE ITR [fo | Proc (53 PS Ref # 's/ Busin PS Reg. or ABC ab | ness Permit | | | | |
| | ure ov | | ed Name | | | | |

*For Certificate of Creditable Tax Withheld at Source (BIR Form No. 2307) and Certificate of Final Tax Withheld at Source (BIR Form No. 2306) please submit your latest/updated BIR Certificate of Registration (BIR Form No. 2303) together with your quote.



MEN'S manuer man unitoen

FRONT



BACK







MEM ?







43rd PCMC Anniversary Celebration 2023



" PCMC: Transformed and Arising: Inspiring People, Igniting Passion, United in Advancing Services "

SPORTSFEST

JULY 2023July 11 and 13, 2023

BOWLING and BILLIARDS
SM Bowling - SM North EDSA Annex
1:00 PM to 5:00 PM

AUGUST 2023 August 18 and 25, 2023

TABLE TENNIS and DARTS
PCMC 3rd Floor Multipurpose Hall

OCTOBER 02 - OCTOBER 27, 2023

Exact Date (TBA)

BASKETBALL and VOLLEYBALL
Sports Venue (TBA)

" Awarding of Winners will be during the December Christmas Celebrations " 06







































